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	(a) Construct and interpret simple decision tree diagrams
(i)Watch the clip https://www.youtube.com/watch?v=PYxDkGlpj_U and answer the following questions:
· What is a decision tree?
· How does a decision tree work?

	THIS IS THE RECALL COLUMN
What questions do you have for Mr Sultan Ahmed about the concepts you have just made notes on?







	
Write your notes to the above questions in this box


























 









Theme 3: Business decisions and strategy
3.3 Decision-making techniques

9
(a) Construct and interpret simple decision tree diagrams
*Do this in pencil and use the length of the page to draw the example shown in the video clip https://www.youtube.com/watch?v=PYxDkGlpj_U

*Make sure you annotate on your diagram each of the 4 stages 

































	THIS IS THE NOTES COLUMN FOR 3.3.3 Decision trees 

	(b) Calculations and interpretations of figures generated by these techniques
Continue watching the YouTube clip and https://www.youtube.com/watch?v=PYxDkGlpj_U and fill in the empty spaces in the table
*Don't just copy but make a REAL effort to understand what the statements are refereeing to

	THIS IS THE RECALL COLUMN
What questions do you have for Mr Sultan Ahmed about the concepts you have just made notes on?







	
Write your notes to the above questions in this box
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(b) Calculations and interpretations of figures generated by these techniques
Continue watching the YouTube clip and https://www.youtube.com/watch?v=PYxDkGlpj_U and fill in the relevant information on your blank decision tree 
*Don't just copy but make a REAL effort to understand what the statements are referring to
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(i) Draw your decision tree based on this information in the box below



















(ii) Fill in the relevant information in the blank decision tree. *Don't just copy but make a REAL effort to understand what the statements are referring to
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(ii) Which option should this student go for?																																												

(iii) What other information would this student need to take into account before he makes his final decision? 																																																
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	(c) Limitations of using decision trees
(i)Watch the clip https://www.youtube.com/watch?v=k29jDYV7JvQ&t=27s and answer the following questions:
· Provide 2 advantages of decision trees
· Provide 2 disadvantages of decision trees

	THIS IS THE RECALL COLUMN
What questions do you have for Mr Sultan Ahmed about the concepts you have just made notes on?







	
Write your notes to the above questions in this box
































	THIS IS THE SUMMARY SECTION
Fill in this section within a day of the lesson
Revise the notes and questions you have written and write a summary of the information in this section
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4.  Drawing the tree: choice (square) or chance (circle)?
4.1 The BZQ Co must decide whether to buy or lease a new machine.		  _________
4.2 If it rains on Saturday evening, the funfair’s takings will fall by 50%.		  _________
4.3 It’s 50/50 as to whether the advertising campaign succeeds or fails.		  _________
4.4 Research proves that 1 in 5 new products succeeds in the marketplace.	  _________
4.5 Either we cut costs sharply or we push for a successful new product launch.	  _________

5. Answer questions on the tree
 (
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)
5.1 Calculate the weighted averages at nodes 1 and 2 ____________________________________	
5.2 Calculate the net expected value for Launch A and Launch B ___________________________________
5.3 Explain why the firm might not launch B, even though it has the better net expected value. _____________________________________________________________________________________________________											
5. Draw the tree
The Denby Bakery must replace its oven. A programmable electric oven from Germany will cost £100,000 and could generate a maximum contribution of £500,000. The chance of this happening is only 1 in 10. It is 5 times more likely that the contribution will be £200,000. It is also possible that disappointing demand will place a ceiling of £80,000 on the contribution generated. A gas oven from Yorkshire will cost only £40,000 and is believed to have a 50/50 chance of generating either £150,000 or £80,000 contribution.  
5.1 Draw the tree (on the back of this sheet)      5.2 Show your calculations, workings and decision
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" Calculations Involved in the Decision Tree
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Decision Tree: Simple Example
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“Putting the Data into Joseph’s Decision Tree
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Calculate the Expected Values and Net Gains

* Go to University
— High pay: (0.7 x £250,000) = £175,000
— Low pay: (0.3 x £50,000) = £15,000
— Total expected value = £190,000
— Net gain: £190,000 - £60,000 = £130,000

Options for ths site
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Final Challenge — Quick Calculation
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Figure 3: The alternative courses of action faced by Colin Andrews
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